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INSTRUCTIONS AND INFORMATION

Read the following instructions carefully before answering the questions.

1.

2.

This question paper consists of 10 questions.

Answer ALL the questions in the SPECIAL ANSWER BOOK provided.

If necessary, round off answers to TWO decimal places, unless stated otherwise.

Diagrams are NOT necessarily drawn to scale.
An information sheet with formulae is included at the end of the question paper.

Write neatly and legibly.
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QUESTION 1
1.1 The number of litres of diesel purchased by 15 truck drivers at a petrol station were
recorded as follow.
82 64 55 50 41
: 71 78 88 98 96
AT 66 80 84 88
1.1 Writé dowh the mode. (1)
I:1.2 (1)
1.1.3 CaICulﬁteﬂgc mean. (2)
1.1.4 ':."é'él"c:Li'l'at'e'ﬁéfé standard deviation of the mean. (1)
1.1.5  Determine how many truck drivers purchased litres of diesel below one
standard deviation of the mean. 3)
ik The mean weight of 8 people entering into a lift is 75 kg. The lift has weight limit of
1 000 kg.
How many people can still get into the lift assuming that the mean weight remains
75 kg? (4)
[12]
QUESTION 2
Grade 8 results of two tests each written out of 50 marks are listed below.
TEST A (x) 39 | 33 | 35| 44 | 37|40 | 24 | 31 | 30 5
TEST B (y) 41 | 45 | 48 | 40 | 47 | 42 | 37 | 44 | 43 24
2.1 Identify an outlier from the given table. (1)
2.2 Determine the equation of the least squares regression line. (3)
2.3 Use the equation of the least squares regression line to prcdlczt a mafk for TEST B if
a learner obtained 14 marks in TEST A. Round off your answe:r ‘ﬂi@‘nearcst whole
number. Ui (2)
2.4 Comment on the strength of correlation between TEST AaudTESTB (2)
[ 18]
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QUESTION 3

Quadrilateral AEBC is drawn. Coordinates of B are (3 ; 4). G, O and F(5 ; 0) are x-intercepts
of lines AC, AB and BC respectively. H(1 ; —4) is a point on line AC. ABC=4.

Area of AOBF = 12 square units and inclination of line AB is 45°.
HC = 2AH

B(3;4)

)
E
\G 0/45" F(5;0) X

31

3.2

33

3.4

35

3.6

3.7

A
H(1:-4)
e

Calculate the length of BF. Leave your answer in simplest surd form. (2)
Calculate the gradient of BF. (2)
Calculate the size of 6. (3)

Prove that HF|AB. 4)

at.type-ofquadrilateral is
*ﬁ (1)

It is further given that, EC bisects AB perpendicularly. Wh
AEBC?

Hence or otherwise calculate the length of AC. (4)
Calculate the area of quadrilateral AOFC. 3)
[19]
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QUESTION 4

4.1 In the diagram below, R is the centre of the circle OPQ. Point Q is the y-intercept of
the circle. SQT is the tangent of the circle at Q. The equation of SQT is y =—%x— 8.

Yy
S e
\ DA~ o P —X
R.
Q
T

4.1.1 Calculate the coordinates of Q. (2)
4.1.2 Determine the equation of QR in the form y=mx+c. (3)
4.1.3 Calculate the coordinates of P, the x-intercept of line QR. (2)
4.1.4 Calculate the coordinates of R, the centre of the circle. (3)

4.1.5 Write down the equation of the circle centred at R in the form:

(x—a) +(y-b) =r?. 3)

4.1.6 If y=k is atangent to the circle, determine the value(s) of (3)

4.2 Calculate the maximum length of the radius of the circle having/egiation
x> +y* —2xsin@—4ysinO=-2. (5)
[21]
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QUESTION 5

5.1 In the diagram below, point S(-4 ; ¢ ) and reflex angle @ are shown. O is the point at
the origin. 0S=3+/2.

32

S(—4; q)

Without using a calculator, determine the value of:

5.1.1 ¢ %)
512 sin(0+45°) (4)
5.1.3 cos(29—360°) 4)

5.2 Simplify the following without using a calculator:

sin (90° - 9) .cos480° +cos (1 80° — 9)
cos @.sin150° —tan 180° (5)

cosx cos2x .
53 Prove that — ————=sinx
sm2x 2sinx (5)

. €0s60° sin60°

sin x COS X

5.4 Given 2

cos60°  sin 60°
sin x COS X
cos (x +60° ) =Cos (90" - Zx)

5.4.1 Show that the equation

3)
B (4)
5.5  Giventhat c0s22,5° =2 and ¢ +5% =2
o
With the aid of a diagram, or otherwise, show that ZaZb = % . 5)
C
[32]

Copyright reserved Please turn over



QUESTION 6

The graph of f(x)=—sin(x—30°) is drawn in the interval of x € [—60° g 180‘)1 .

,.y

0

60 90 120 150 180

Use the graph to answer the following questions.

6.1

6.2

6.3

6.4

6.5

6.6

Write down the period of f. (1)
Write down the minimum value of f. (1)
Determine the range of f(x)+1. 2)
For which values of x is the graph of f increasing, where x € [—60° : 180“] ? )

The graph of £is shifted 60 to the right and then reflected in the x-axis to form a new
graph of g. Determine the equation of g in its simplest form. (3)

Draw the graph of g on the same set of axes. Clearly show the intercepts with the
axis and the turning points in the interval of x € [—60" - 180"] . 3)
[12]
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QUESTION 7

-~

In AABC below, AC = 2x, BC = (16 —4x), C=120°, B=6.

2.l Determine the area of AABC in terms of x, without using a calculator. 3)

12 For which value(s) of x will the area of AABC be a maximum? (3)
[6]
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QUESTION 8
8.1  In the diagram below, O is the centre of the circle. BD is the chord of the circle. E is
the midpoint of chord BD.
O
1l 1 2 1l
B 1T E D

Use the diagram provided in the ANSWER BOOK to prove the theorem which states
that: The line drawn from the centre of a circle that bisects a chord is perpendicular to
the chord.

In other words, prove that: OE L BD. (5)
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8.2 Inthe diagram below, O is the centre of the circle. Q is the midpoint of chord PR.
0QS is the radius of the circle. PR = 8 units, OQ = x units and QS = 2 units.

8.2.1  Determine, giving reasons, the size of OQP . (2)
8.2.2  Calculate the length of PO. (5)
[12]
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QUESTION 9

9.1 A, B, C and D are points on the circumference of the circle with centre O. AOB is
the diameter of the circle. 40D =70°.

Calculate the size of C, giving reasons. (5)
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9.2 PTis a tangent to the circle at T. PR|TS and PQR is a straight line. Q, R and S are

points on the circumference of the circle. liz =y and S=x. QR =TS.

9.2.1 Name, giving reasons, TWO other angles each equal to y. 4)
9.2.2 Determine, giving reason, another angle which is equal to TZ : (2)
9.2.3 Prove that TR is the diameter of the circle. 4)

[15]

Copyright reserved Please turn over



13

QUESTION 10

BCDM is a cyclic quadrilateral. Chords MD and BC are produced to meet at point A. N is a
point on CD. AC|MN and AM=CD.

AC =36 units, AD = 48 units and BM = 24 units.

10.1  Prove that AABM|| AADC. 4)
10.2 Prove that CD* =BM x AC. (3)
10.3 Calculate the length of CN. (6)
[13]

TOTAL: 150
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INFORMATION SHEET: MATHEMATICS

—b+b2 —4ac

2a
A= P(1+ ni) A= P(1— ni) A=P(1-1)" A=P(+i)"

x[(lﬂ')"—l] x[l—(lﬂ‘)_"]

F = - _
I i
T =a+(n-1)d nzg(2c1+(n—l)d)
T, =ar"" S =M s r#l S, =2 -1<r<l
! r—1 e
fv(x): im f(x+h)_f(x)
h—0 h
Xp+Xx, y+y
d =5, =x)? +(r, 1)’ M[ e 2]
y:?m+c y—y]:m(x—xi) m:u m=tan @
Xy =X
(x=a) +(y-b) =+
ImAdBC: & - b _ ¢ a2 =b% +c? -2becosA  areadBC =Labsin €
smnAd snB sinC 2
sin (a +ﬂ) = sin a..cos ff +cosa.sin f3 sin (a: —,B) = sin a.cos S —cosa.sin f3
cos(a + ) = cosa.cos f —sin a.sin B cos(a — B) = cos dcos -

2 i o
cos’a—sin’a
cos2a =41-2sin’ a sin 2a = 2sin a.cos o

2cos’ a—1

X=

(xf _f)
% o = il P(A):M

p o 2 =¥ —7)
> (x =%y

y=a+bx
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QUESTION 1/VRAAG 1
82 64 55 50 41
71 78 88 98 96
63 66 80 84 88
Solution/Oplossing Marks/
) — Punte
1.1.1 L
N~
NA~ (D)
1.1.2 %
eV o
. o
1.13 —54
(2)
1.1.4
(1
I.1:5
3)
12
r.z@v%
00N
Innar
“4)
[12]
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QUESTION 3/VRAAG 3
1
y
B(3;4)
E
0
= 0/ 45 F(5,0) x_
A
H(1:-4)
C
Solution/Oplossing Marks/
Punte
3.1
(2)
32

=

15 ()
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—
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3.5
(1)
3.6
JdanT
d00n
lopnar
0007
 —
4)
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3.7
N~
NN
NN
NNAT 3)
[19]
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QUESTION 4/VRAAG 4

v
S ———
0) P X
Re
Q
T
Solution/Oplossing Marks/
Punte
4.1.1
(2)
4.1.2
n
N
3)
e |
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4.1.3
BaT
N
nnN

n (2)

4.1.4
3)

4.1.5
3)

4.1.6
 — 3)

21N

(5)
[21]
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QUESTION 5/VRAAG 5

by
N
5 »
!
3V2
S(-4;q)
Solution/Oplossing Marks/
Punte
5.1.1
(2)
5.1.2
C—— (4)
5.1.3
4)
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5.4.1
q
BaT
N
NN
NOAT
Ee—
(3)
5.4.2
(4)
5.5
' e :
' pr—
L]0
(5)
32]
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QUESTION 6/VRAAG 6

Solution/Oplossing Marks/
Punte
6.1
9]
()
(2)
6.4
(2)
6.5
3)
6.6 y
60 -30 30
=1
3)
[12]
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QUESTION 8/VRAAG 8
Solution/Oplossing Marks/
Punte
8.1

faTavs

Iona7?
NNn (%)
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QUESTION 9/VRAAG 9
Solution/Oplossing Marks/
Punte
9.1
(5)
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P Q/I_\R

N7

Yy

Solution/Oplossing Marks/
Punte
9.2.1
4)
9.2.2
(2)
9.2.3
— §
(4)
[15]
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Solution/Oplossing Marks/
Punte
10.1
(4)
10.2
n
n 3)
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Solution/Oplossing Marks/
Punte

10.3

I0AT

n

0nAT

(6)

[131

TOTAL/TOTAAL: 150
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NOTE:

If a candidate answers a question TWICE, only mark the FIRST attempt.

If a candidate has crossed out an attempt of a question and not redone a question, mark the crossed
out version.

Consistency accuracy applies in ALL aspects of the Marking Guideline. Stop marking at the
second calculation,
Assuming answers/

CITOT.

sal .’ n order to solve a problem is NOT acceptable.

GEOMETRY

S A mark for & statement
(A statement independent of a reason)
R A mark r t reason.
(A reasor.ma ly only be awarded only if the statement is correct

S/R | Award a }ﬂ&l’k M‘[ement AND a reason are both correct

NOTA:

As n kandidaat n vraag TWEEKEER beantwoord, merk slegs die EERSTE poging.

As n kandidaat n poging van n vraag doodtrek en dit nie oordoen nie, merk die doodgetrekte
poging.

Volgehoue akkuraatheid word in ALLE aspekte van die Nasienriglyn toegepas. Hou op nasien
by die tweede berekeningsfout.

Aanvaar van antwoorde/waardes om n probleem op te los, word NIE toegelaat nie.

MEETKUNDE

S

n Punt vir korrekte bewering
(n Punt vir n bewering is onafhanklik van die rede)

R

n Punt vir 'n korrekte rede
(n Punt word slegs vir die rede toegeken as die bewering korrek is)

S/R Ken n punt toe as die bewering EN rede beide korrek is

Copyright reserved/Kopiereg voorbehou Please turn over/Blaai om asseblief
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QUESTION 1/VRAAG 1
1.1 82 64 55 50 41
71 78 88 98 96
63 66 80 84 88
1.1.1 |88 — v answer / antwoord (1)
112 S L0811 = v’ answer / antwoord (1)
1.13 f—1104 v 1104
15
=360 v answer / antwoord (2)
NNn
1.1.4 | 0=16,30 % v answer / antwoord (1)
115 ,60.-16,30 v 73,60—-16,30
v' 57,30
.. There were 3 truck drivers. v answer / antwoord
Daar was 3 trokbestuurders (3)
1.2 let total mass of 8 people be x:
laat dietotale massa van 8 mense x wees :
number of people tobe added be k:
aantal mense wat by moet kom k wees :
Z-75 7 e
8 8
x =600 v" mass of 8 people (600)
75k +600=1000 massa van 8§ mense (600)
1000— 600 V' equation / vergelyking
S (75k + 600 = 1 000)
k=3,333
It will be approximately equal to 5 people v answer / antwoord
Dit sal ongeveer gelyk aan 5 mense wees (4)
[12]
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QUESTION 2/VRAAG 2
TEST A/ TOETS 4 39 [ 33 35| 44 |37 (40|24 31 30 5
TEST B/ TOETS B 41 | 45 | 48 | 40 | 47 | 42 | 37 | 44 43 24
21 | (44 ;40) v 44 in TEST A / TOETS A (1)
2.2 a=2548 v a=2548
b=0,49 v b=0,49
4 y= 25,48+ 0,49){ (3)
2.3 v'correct substitution /
korrekte vervanging
v answer / antwoord (2)
2.4 . v r=0,79
sith v'comment / kommentaar
Sterk positiewe korrelasie (opmerking) (2)
8]
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QUESTION 3/VRAAG 3
yl
B(3;:4)
0
E
— o/] 45 F (5;0) X,
A
H(l;-4)
C
31 | ppo \/(3 —5) +(4—0) v correct substitution
korrekte vervanging 5
=20 v answer / antwoord )
3.2 _4-0 v’ correct substitution
Mg = 3.6 korrekte vervanging
- v’ answer / antwoord @
33 tang =-2 v tana:mBF=—2
a=116,57° ¥ #=116,57"
0=116,57"-45°=171,57° [ext Zof a A] v 0=T157° 3)
3.4 tan45° =m , =1 v m =
on o 1-5 7
A0 corr 1911;’
_1 kor ing
= P
HEJ Ay = -1 R =) |t

Copyright reserved/Kopiereg voorbehou
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3.5 | Kite/ Viieér v' answer / antwoord (1)
3.6 | HC FC . . v’ correct ratio /
e = — [line/lyn || toonesideof a A/ aaneensyvan Al korrekte verhouding
2 FC v'correct substitution
1 = m korrekte vervanging
FC=45 v FC
AC = 6\/5 a sidesof 4)
37 |B=A= 71,5 ' 'YF‘F pp=sides / Le teenoorzsye] R
Area of VaILAE EC = Area of/van AABC — Area of/van AOBF
=2 x 63/5 x6+/5 x5in36,87° —12 v' Area of/van AABC
=42 v answer / antwoord (3)
[19]
QUESTION 4/VRAAG 4
o
S
\ O P o X
R
Q
T
4.1.1 3
y=-2(0)-8
=8 i y-koordinaat
(0 ; —8) ()

Copyright reserved/Kopiereg voorbehou Please turn over/Blaai om asseblief
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4.1.2 4
My, = s [tan L rad/raakl L rad] v Mgy
oy i(x—()) v'substituting m,,, and
3 0(0;-8)
yzix_g vervanging myy en
’ 0(0;-8)
v’ equation / vergelyking 3)
413
\/y =
vVx=6
2)
4.1.4 v’ correct substitution
korrekte vervanging
‘/xit:S /yR=—4 (3)
415 | p2=(0-3) +(-8+4) v’ correct substitution
_ 95 korrekte vervanging
2 2 _ Y =25
(x =3) +(y+4) =25 v’ equation / vergelyking 3)
416 | k=-4+5o0r/of k=—4-5 v method / metode
k=1 or/of k=-9 V=l ¥R= 3)
4.2 (x—sin @) +(y+2sin @) =—2+sin>@+4sin*@ | v (x—sin §) +(y+2sin O)’
r’=-2+5sin’ 0 v r?=-2+5sin’0
For any value of # maximumof sin® 8 =1 . %
L v maximum of sin~ 6 =1
Vir enige waarde van 0 is maksimumvansin® 6 =1 . ;.
maksimum van sin” 8 =1
sor=y=2+501) vor=,-2+5(1)
= xﬁ v answer / antwoord (5)
[21]

Copyright reserved/Kopiereg voorbehou

Please turn over/Blaai om asseblief




s Downloaded froma 0

zom (EC/SEPTEMBER 2024)
QUESTION 5/VRAAG 5
5.1 4,
O .
O
32
S( —4;q)
511 v’ correct substitution/
9= (3 T Eyth korrekte vervanging
==x/2 v’ answer / antwoord )
5.1.2 | sin (9 +45° ) =sin &.cos45° 4+ cos @sin 45° v expansion / vergelyking
—\/_ \/_ \/_ v’ ratios of / verhoudings van
32 2 J_ sin @ &cosé
1-242 v’ special angles / spesiale hoeke
=— v’ answer / antwoord
32 (4)
3.L.3 cos(29~360°)=00529 v’ cos20
R v’ identity / identiteit
=2co0s  8-1
4V v’ ratio of / verhouding van cos @
=2| =] -1
(3& ]
— 4 v_ answer / antwoord
9 4)
5.2 sin (90° —9).cos480° +cos(180° —9).tan45°
- v cos @
c0s 0.sin 390° —tan 180°
cos 9.(—005 60")+(—cos 9)(tan 45")
B cos Q(Sin 30")—tan180°
—%cos@—cos (1)
- 1
cos 9(—] -0
2
o2 cosd
__3
%cos o
v
-3 answer / antwoord 5)

Copyright reserved/Kopiereg voorbehou

Please turn over/Blaai om asseblief




ccDewnioaded from Stam ORI E V2

5.3
LHS/ LK = (fosx _cos_;2x
sin2x 2sinx L .
. . v simplification /
2sin xcos x —cos 2xsin 2x ..
= . - vereenvoudiging
2sin2xsin x
_sin2x—cos2xsin 2x v sin 2x
2 sn 2xsin x v" common factor /
gemene faktor
v’ identity / identiteit
1-2sin’x
v 2sin” x
sin x
(5)
54.1 | cos60° sin60° )
sin x Cos X
cos 60 co_sx—smGO sin x _9 v simplification /
$In X cOs X vereenvoudiging
cos(x+60°)=23inxcosx v cos(x+60°)
cos(x+60°)=sin2x v'sin 2x
cos(x+60°)=cos(90°—x) 3)
54.2 cos(x+ 60“) = cos(90° - 2x)
v x+60° =90° —2x
x+60° =+(90° —2x)+360°k
x+60°=90°—2x+360°k or/of x+60°=-90°+2x+360°k 3x=30"+360"%
3x=30° +360°k or/of —x=-120°+360°k V|orlof
x=10°+120°k  or/of x=120°-360°k, keZ | —x=—120"+360"k
OR/OF x=10"+120"%k
X+60°=90° = 2x+360°k or / of x+60° =360° —90° +2x+360°k | V| or/of
3x=30°+360°k or/of —x =240° +360°k 120" —360°.k
x=10"+120°k or/ of x=-240°~360"k, ke Z keZ 4)
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v
5.5 y=+Nc*—a®  Pyth Theorem/ Stelling
v y=Ac’*—a’ Pyth Theorem/ Stelling
OR/OF correct diagram/
korrekte diagram
CZ _a2
2 e . g0
7 =sin45 v sm 45
=2sin22,5° c0s 22,5° v 2sin22,5°%c0s 22,5°
’-a i,
=72, ; - v’ substition / vervanging
_9 Nal +b* -d’ a vetitodity at &b
' c c
_2ab
¢’ )
[32]
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QUESTION 6/VRAAG 6

120 150 180

6.1 | Period / Periode is 360° v answer / antwoord (1)

6.2 | Min value / waarde = —1 v answer / antwoord (1)
6.3 -1<y<1
=1 p=1+1 v'correct critical values
0<y<2 korrekte kritieke waardes
v’ correct notation / korrekte
notasie (2)
6.4 120° < x < 180° v’ correct critical values

korrekte kritieke waardes
v correct notation / korrekte

notasie (2)
6.5 | g(x)=-sin(x-30°-60°) v~ (~sin x — 30° - 60°)
. v sin(x—90°)
=—sin (x—90°)
v —cosx
=—COSX 3)
6.6 y

v" intercepts with the axes

N. ' 1 ' - afsnitte met die asse
\ v’ turning points / draaipunte
X

60 30 D 30N_60 120 150 180

\* v shape %
—— 3)

Ul INI [12]
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QUESTION 7/ VRAAG 7

7.1 1 . o
_ (1 65— d? )xsin 60° korrekte vervanging
=8/3x—2/3x? v’ sin 60°
v" answer / antwoord (3)
7.2 A'=0 v’ derivative / afgeleide = 0
8v3 —43x =0 jgﬁ—“ﬁx ]
=2 answer / antwoor 3)
[6]
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QUESTION 8/VRAAG 8

8.1 Construction: Draw DO and OB v’ construction
Proof: In AODE and AOEB
DE = EB [given] v~ first statement (radii)

OD=0B  [radii]
OE=0E  [common]|
. AODE = AOEB [SSS] v reason for congruency

E +E,=180° [Zsonstrline]

v other 2 statements

& F: v
~E =E, =90° [AODE =AOEB] R
Konstruksie: Trek DO en OB v’ konstruksie
Bewys: In AODE en AOEB
DE = EB [gegee] v’ eerste stelling (radiusse)

OD =0B [radiusse]

OE=0E  [gemeen]

.. AODE = AOEB [SSS]

E +E,=180° [ Zeop reguitlyn|
~E =E, =90° [AODE = AOEB]

v’ ander 2 stellings

)
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8.2

‘R

(@)

8.2.1 | 0QP=90"  [linefromcentretothemidpoint] | ¥'S YR

[lyn vanaf middelpunt van sirkel na middelpunt

van koord] (2
822 | PQ=4 v PQ

OP* = PQ* +0Q° [ Pyth |

(x+2) =4+ 22 v substitution into Pythagoras

vervanging in Pythagoras
¥ +4x+4=16+ ging in Fythag

4x =12 v’ simplification /
F=3 vereenvoudiging
QP =08 =5 [radii I radz'usse] v’ x-value /x—waarde
v PO (5)

[12]
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QUESTION 9/VRAAG 9
9.1 é, =110" [£s onastr.line/ Zeop reguitlyn| v SR
0, =250° [ £sarounda point / Ze om 'n punt]| V'S v R
~C=125° [Zat centre=2x Zat circumf] S V'R
[Middelpunts 2 =2 x Omtreks /] (5)
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9.2
9.2.1 "1 =y [tan chord theorem / raaklyn koord Ste[[ing] ://IS{
=y [altZs/verw. Ze, PR||TS]
v'S
v R (4)
9.2.2 Az = }'é] [ Zssubt by equal chords / Ze onderspan deur gelyke koorde] | ¥ S ¥ R )
923 ,.2 =x—y [ext.éofa A/ buiteévan‘nA] V'S
ﬁl = f; =x—-y [proved;‘beuys]
y+x—-y+x=180° [Zs in ATRS / Lein ATRS] SR
2x =180°
x=90° v x=90°
. TR is the diameter of thecircle [chord subt.90° ] y
R
TR is die middellyn van die sirkel [ koord onderspan90° ] (4)
[15]
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QUESTION 10/ VRAAG 10
AC = 36 units/eenhede, AD = 48 units/eenhede and/en BM = 24 units/eenhede
10.1 | A=A [common / gemeen] 8
PR 8 ~R
B,=D [ext Zof acylic quad / buite Z van koordev.]
~ " rd de
M,=C [ext Zof acylicquad/ buite £ van koordev.] Y R 3% angle/3% hoek
or/of [3"* £] OR/OF
AABM|[|AADC [££/] PR s @
10.2 BM AM v'S vR
—=— [llas]
DC AC
but/maar AM = DC [ given / gegee]
BM _DC < AM=DC
DC AC
CD’* =BMxAC 3)
10.3 | CD* =24x36 =864 v’ length of CD’
lengte van CD?
L2 = AM [1ine|| toonesideof a A] ) —
CD AD wiala)
[lynllaaneensyvan'nA]
AM =CD
o O itf Tes s of CD* 2
CN = , terme van CD
4D V001 substitution
_864 _korrekté vervanging
48 : -
=18 v' length of CN
lengte van CN (6)
[13]
TOTAL/TOTAAL: | 150
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